
Matricola Es. 1.1 Es. 1.2 Es. 1.3 Es. 1.4 Es. 2.1 Es. 2.2 Es. 2.3 Es. 2.4 Es. 3.1 Es. 3.2 Es. 3.3 Es. 4.1 Es. 4.2 Totale Esito Note

986686 2 2.5 1.5 2 3 2.5 2 2 1.5 3 1 2 2 27 27

886780 2 3 0.5 1.5 2 2 2 1.5 0 0 0 0 0 14.5 14

983749 1.5 0 1 2 1.5 2.5 2 1 0 0 0.5 1 0 13 13

983487 2 2 2 2 3 2.5 2 2 1.5 3 0.5 3 3 28.5 29 Bandierine

984243 1.5 4 2 2 2 2.5 1.5 1.5 1.5 3 0.5 0 1 23 23

982665 1.5 0 1 1.5 0 0.5 0 0 1.5 2 0 1 0 9 9 Insufficiente in Matlab

986908 2 3 1.5 2 3 2 2 2 1.5 2 1 1 3 26 26

983336 2 2 1.5 2 3 2 2 2 1.5 3 0.5 3 0 24.5 24

986193 2 1.5 1.5 2 2 3 2 2 1.5 2 0.5 2.5 2 24.5 24

982297 0 3 2 2 3 3 2 1 1.5 3 0 1.5 1.5 23.5 23

986340 0 1 0 0 0 0 0 0 0 0 0 1 1.5 3.5 3 Insufficiente in Matlab e C

937421 0.5 0 1.5 2 3 2.5 2 1 1.5 0 0 0 0 14 14

932337 1 2 0 1 2.5 2.5 2 1 1.5 1.5 0.5 2 1.5 19 19

890383 2 1 2 2 3 2.5 2 2 0 2 1 3 0 22.5 22

984325 0.5 3 1 0.5 0.5 0.5 0 0 0 0 0 0 0 6 6 Insufficiente in Matlab

986665 1.5 4 2 2 3 2 2 2 1.5 3 1 2 2 28 28

987153 0.5 2 1 0.5 1.5 2.5 2 1 1.5 0 0 1.5 1 15 15

981148 1 1.5 1 2 3 2.5 2 2 1.5 3 1 3 3 26.5 26

986706 1 3 2 2 2 2 1.5 2 0 3 1 1.5 2 23 23

847731 2 3 1.5 2 2.5 2.5 2 1.5 1.5 1.5 1 0 0 21 21

985241 1.5 2 2 2 2.5 2.5 2 1.5 2 3 0 2 2 25 25

984375 0 0 2 0 1.5 1.5 0 1 1.5 2.5 1 2 1.5 14.5 14 Insufficiente in C

987330 0.5 0 0.5 0 1 0 0 0 0 0 0.5 1 0 3.5 3 Insufficiente in Matlab e C

984463 1.5 4 1 0 1 1.5 1 1.5 1.5 3 0 1 2 19 19

986306 2 2.5 1 2 2.5 2 2 1.5 1.75 1 0.5 3 2 23.75 24 Bandierine

983661 2 1.5 1 2 1.5 2.5 1 1 1 2 0 3 0 18.5 18

983004 2 2.5 2 2 3 2.5 2 2 1.5 3 1 1 1.5 26 26

984004 1 1 2 1 2 2.5 2 1.5 1.5 2 0 1.5 1.5 19.5 19

982192 2 2 1 2 2.5 2.5 2 1 0 1 1 1.5 0 18.5 18

982922 1 2.5 1.5 2 2.5 2 2 1 1.5 2 0.5 2 1 21.5 21



Matricola Es. 1.1 Es. 1.2 Es. 1.3 Es. 1.4 Es. 2.1 Es. 2.2 Es. 2.3 Es. 2.4 Es. 3.1 Es. 3.2 Es. 3.3 Es. 4.1 Es. 4.2 Totale Esito Note

909242 1 1.5 0.5 2 1 1.5 0 0 1.5 3 0 0 0 12 12 Insufficiente in Matlab

910371 2 3 2 2 3 2.5 1 1.5 0 1.5 0 2 0.5 21 21

983871 1 2 0.5 0 2 2 0 0 1.5 2 0 2 1 14 14

984236 2 3.5 2 2 3 3 2 2 1.5 2 0 3 0 26 26

982596 2 1 0 0 1.5 2 0 0 1 1 0.5 1 1.5 11.5 11

982471 2 2.5 2 2 2 2.5 2 2 1.5 2 0.5 2 3 26 26

981161 0.5 2.5 0 0 0 0 0 0 1.5 0 0.5 2 0 7 7 Insufficiente in Matlab

981467 2 3 2 2 3 3 0.5 1 1.5 2 0.5 1 1.5 23 23

987200 0.5 0.5 0 0 1.5 2 2 1 1 0 0 1 1 10.5 10 Insufficiente in C

983538 2 2 2 2 3 2.5 2 2 1.5 3 1 3 3 29 29

984002 0.5 2.5 1 0 3 2.5 0 0 1.5 3 1 2 3 20 20

981510 2 0 0.5 2 3 2 2 1.5 1 3 1 0 2 20 20

981016 2 0 2 2 3 2.5 2 2 1 3 0.5 2.5 1.5 24 24

981293 0 1.5 0.5 0 1.5 1.5 2 1 1 3 0 0 1.5 13.5 13 Insufficiente in C

982763 2 1 0 0 0 0 0 0 1.5 2 1 3 1.5 12 12 Insufficiente in Matlab

983197 2 4 1.5 0 1.5 3 1 1 1.5 3 0 3 2 23.5 23

981025 2 2.5 2 2 3 2.5 2 2 1.5 3 1 1 2 26.5 26

982652 2 1 2 2 0.5 2 1 0.5 1.5 0 0.5 0.5 0 13.5 13

981486 1 1 1 2 1 3 0 1 0 3 0 3 0 16 16

982275 1 1.5 2 2 2 2.5 2 1.5 1 3 0 1.5 1.5 21.5 22 Bandierine

982222 1 1.5 2 0 3 3 2 1.5 1 3 0.5 3 0 21.5 21

985401 1 1.5 2 2 2 2 2 1.5 0 2 0 3 1.5 20.5 20

987667 0 0 0 0 1 0.5 0 1 0 1 0 0.5 0 4 4 Insufficiente in Matlab e C

980968 2 1.5 0.5 1 1.5 2 0 2 1.5 1 0 3 0 16 16

982808 2 3 0 0 2.5 2 0 0.5 0 2 0.5 1.5 0 14 14

986698 0.5 1.5 1.5 0 2 2.5 2 1.5 0 2 1 3 3 20.5 20

987509 2 3.5 2 2 2.5 1.5 1 0 2 1.5 0 0 0 18 18

981287 1 1 0 0 1.5 0 0 0 1.5 3 0 3 1.5 12.5 12 Insufficiente in Matlab e C

985468 2 4 2 2 3 2.5 2 2 1.5 3 0.5 2 1.5 28 28

982256 2 4 1 2 3 2.5 2 2 1.5 3 0.5 2 2 27.5 27



Matricola Es. 1.1 Es. 1.2 Es. 1.3 Es. 1.4 Es. 2.1 Es. 2.2 Es. 2.3 Es. 2.4 Es. 3.1 Es. 3.2 Es. 3.3 Es. 4.1 Es. 4.2 Totale Esito Note

985182 2 2.5 2 2 3 2.5 1 2 1.5 3 0 3 0 24.5 26 Vincitore Bandierine

987604 0.5 1.5 2 0 2.5 2 2 0.5 0 1 0 0 2 14 14


